ECS 452: Exercise 2 Solution

Instructions
1.  Separate into groups of no more than three persons.
2. The group cannot be the same as your former group. Name ID
3. Only one submission is needed for each group. Fva.p on 13
4 Write down all the steps that you have done to obtain your answers. You

may not get full credit even when your answer is correct without showing
how you get your answer.

5. Do not panic.
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1. ConsideraDMCwhose X' ={1,2,3}, Y ={1,2,3,4},and Q=| 0.1 0.7 0.1 0.1].
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Suppose the input probability vectoris p=[0.2 0.1 0.7].

a. Find the joint pmf matrix P.
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b. Find the MAP detector and its error probablllty
AY 1 )

1] o-o% 012 ©6.02 0O.02 For ecach ¢olumm of +ve P wacte x,

P=Y0.01 o003 o0.014 o0.0f

€20 @2062D E=3)

e The corcesponding x -volue for e selected velue in cach column.

select Yhe max wvalve,

LL"W P(C)=0.2140.24v0.2440.63 =0.7
! ; Se, Kpnap2) =3 P(E)=1-P(C)=1-0.2=0.3

2

3 3

4 3

c. Find the ML detector and its error probability.
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